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| #F5 | A, TER | F2 TN
BeaLizn BB 21772 5 M (1 TRV include Math
- pp Z2f5 72 DOHEfF (1 ETERW) require ’pp’
R 1 BN 2 Y p 55
TR 2 p KOHEPITV pp FIC® 55
FR 3 TEICERLIZD print Zlc® 55
(AWN ERIH TR ER AND a=3.5
HNIHE - axb
NER - 2xx3 (8175 5)
G - a.abs (a DOHMEFHHE)
o - a.ceil (a DYIH LT
pop; H IR log(a)
ek - exp(a)
ALEL 0 LLE 1 Al rand ()
ZRICIET - a+=1(all1E?d)
e A — - a=Db(alcbOHHZIE—)
XA a e — AN B ERFIRTE K a = b.dup(a i b DFFZIE—)
XFHNDH B 1 BZITh1¥Nn5 str[3].chr(EM 5 4 XFHDER)
FHD—ER BATIH 113 strl1..41(2~5 XFHET)
AR HIBR BATMN1ThD s.slice!(3..6)(4~7 X FHZHIR)
P& - s.to_i
P 2=t (u - s.to_f
BF2 SCFIT 1 Ffizcdbdb a.to_s
B 7 SR 2 ()IC4 & AN% & 4 #EBFIRIC a.to_s(4)
XFDE 1 RETRSCF? s.length
F DR 2 FHEDSFDE s.count("a")
Libagel ey - [a,b,3] &&
EEDEHE BATN1Th5 al3] F 4 FHOEZEZIRT
EAICEZEN - group.push(a)
NV DEE (v a) N7 ZEDIED hash = { "a" => "3", "pb" => "2"}
N7 EEGHEOIER X7 Z2—DFDFEL T hash.each { |k, vl fE3¥}
&K, BvME KEOTEDRAK, HvIME [3,5,2] .min 7% &
AN SRS =T for i in 1..5 do (FIC® 55 end
BATEDHREKT 2 &R CEnE 1.upto(B){Iil XI55 }
BRI S#EET 3 I 5 95N 5.dovnto(1){li] &ic® 55 }
&ELE MDD 2 IR SENME f 1ZIC® 55 then (V) else (X2 end
LLLL—7 DD S IV — TEE while [ZIC®» 55 do IEL) end
—HLT%? b s % a==b
BEEAE K TZ 5% LAHF def FlIC® 55 (180 HE end
BAE D i BERDOHTHEEL S return H/]
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1 include Math 9 array.each{lpl

2 10 h -= p * 1g(p)

3 def 1g(p) 11 }

4  return log(p)/log(2.0) 12 return h

5 end 13 end

6 14

7 def entropy(array) 15 X = [0.05, 0.2, 0.5, 0.2, 0.05]

8 h=0.0 16 print "H(X),=,", entropy(X)," bit\n"
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{ 2 4+y? =1,
V3x — y = 0,
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1 include Math 15 dy = (SQ*fx-2*x*fy)/d
2 16 return x-dx, y-dy
3 8Q = sqrt(3.0) 17 end

4 18

5 def f(arr) 19 ini = [2.0,0.0]

6 x,y = arr 20 p ini

7  return x**2 + y*x2 - 1.0, SQ*x - y 21

8 end 22 a = ini

9 23 for i in (1..10)
10 def newton(arr) 24 b = newton(a)

11 X,y = arr 25 pb

12 fx,fy = f(arr) 26 a=b

13 d = 2.0% (x + SQ*y) 27 end

14  dx = (fx+2*yxfy)/d
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1 require ’pp’

2 a=1.5

3 b=2.5

4 hash = {1=>2, 2=>4, 3=>8, 4=>16, 5=>32}

5

6 hash.each {|left,rightl|

7 print "modify: (", left, ",,", right, ") —>,(", axleft, ",.", b*right, ")\n"
8 }

EWVHITOAT T LEEZTHED. THUIEFE-IELEFE {(1,2),(2,4),(3,8), (4,16),(5,32)} £V HHEFIC hash &
WS iDL, FOHEDRT Z—DH D U7 & ZITRIC (left, right) &S Al TEA TR LT3 T L ICH
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modify: (1, 2) -> (1.5, 5.0)

modify: (2, 4) -> (3.0, 10.0)
modify: (3, 8) -> (4.5, 20.0)
modify: (4, 16) -> (6.0, 40.0)
modify: (5, 32) -> (7.5, 80.0)
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